
Question -1)

Statement: The passage highlights that India has transformed from a nation dependent on Western
countries for medical treatments to a global healthcare hub. It suggests that this evolution is a
reflection of India’s medical prowess and economic resilience.

Question:Which of the following, if true, would most weaken the argument that India’s healthcare
transformation is solely due to its medical prowess and economic resilience?

A) The Indian government has offered significant tax incentives to attract foreign patients.
B) Many Indian doctors who have contributed to this transformation were trained in Western
countries.
C) Several Western countries have seen a decline in healthcare quality, driving patients to seek
treatment elsewhere.
D) India has heavily relied on imported medical devices to provide advanced treatments.
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Question -2)

Statement: The passage mentions that India saves billions in foreign exchange annually because
fewer Indians travel abroad for medical treatments, and that this has positioned India as a cost-
effective healthcare destination.

Question:Which of the following assumptions does the author rely on in making the claim about
India saving foreign exchange?

A) The quality of medical treatments in India has surpassed that of Western countries.
B) Indians prefer to receive medical treatments within their own country if the quality is comparable.
C) The cost of medical treatments abroad has significantly increased in recent years.
D) The number of Indians seeking medical treatment abroad has always been high.

Question -3)

Statement: The passage discusses the challenges India faces in the healthcare sector, including the
significant import of medical devices.

Question:Which of the following would best address the concern regarding the import of medical
devices as mentioned in the passage?

A) Increasing the import of high-quality medical devices from more developed countries.
B) Encouraging international companies to set up manufacturing units in India.
C) Lowering tariffs on imported medical devices to make them more affordable.
D) Training more Indian healthcare professionals to use complex imported devices.

Question -4)

Statement: The author emphasizes the need for the youth of India to engage in the healthcare sector
to drive innovation and make a meaningful difference.

Question:Which of the following is an implicit assumption behind the author’s emphasis on youth
engagement in the healthcare sector?

A) The current workforce in the healthcare sector is insufficient to meet future demands.
B) Innovations in healthcare are primarily driven by young professionals.
C) The youth of India are uninterested in non-medical professions.
D) The healthcare sector is more lucrative than other sectors in India.

Question -5)

Statement: The passage suggests that India’s healthcare transformation is a microcosm of the
nation’s broader path to self-reliance and excellence.

Question:Which of the following best illustrates the relationship between India’s healthcare
transformation and the broader path to self-reliance and excellence?
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A) India’s economic policies have directly influenced the quality of healthcare available in the
country.
B) The success in healthcare has motivated other sectors to aim for similar achievements.
C) India’s self-reliance in healthcare has led to a reduction in foreign dependency in other sectors as
well.
D) The healthcare sector is the only area where India has achieved significant self-reliance.

Question -6)

Statement: The passage states that the Indian healthcare system is not just about treating ailments
but providing holistic care, which includes addressing physical, emotional, and psychological needs.

Question: If the Indian healthcare system fails to provide holistic care, which of the following
outcomes is most likely to occur?

A) An increase in the number of patients seeking treatment in other countries.
B) A decrease in the cost-effectiveness of Indian healthcare services.
C) A decline in the overall satisfaction and recovery rates among patients.
D) A reduction in the number of international patients visiting India for medical treatment.
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